CG\LANL Enginesring Biandardo\End. Marual [LEMI\Z. Appravad\ST—C4010—-D8E2.4wvg, 10/31/02 B 11:36 CE38E8

BILL OF MATERIALS

ITEM DESCRIPTION QTY| MFR. CATALOG No.
(1) | POLES: Ft. CLASS: 2

POLES; Ft CLASS, 2
CROS55 ARM ASSEMBLY: MK TYPE GG-SIDE, 2 HUGHES CZ561.3A

3-3/4" X B 1/2° X 11°-8" W/MOUNTING HARDWARE

GENERAL NOTES:

(3) | SHIELD WIRE DAMPER 4 | ALCOA #1701-3
@i5) | STEEL CABLE: 1/2% 7 STRAND EH.. AS | NATIONAL STRAND PRODUCTS;
REQ’D| HOUSTON, TEXAS
@i6) | PARALLEL GRODVE CLAMPS: FOR 397.5 KCM ACSR 3 | BURNDY CP34A34A
CROSSARM ASSEMBLY: MK TYPE GG-GENTER,
D | 375/4* X 8 1/2° X 14'6" WITH WOUNTING HARDWARE 1 | HUGHES §02561.38
@ SHIELD WIRE ANGLE: WITH MQUNTING HARDWARE (15°-86") 1 | HUGHES $C2561.1D
CONNECTING LINK 16 PR| HUGHES #3152
@) |eur ROLLER 4 | HUBHES #2R082
@) | MACHINE BOLT: 7/8” x 3° WITH fMFBO LOCKNUT 4 | HueHEs #BBI—2
@3 | BUY GRIP: 1/2°, 7 STRAND EH.5. 24 | PREFORMED #BG-2115
G3) | SHIELD WIRE DEAD END STRAN CLAMP: FOR 3/8", 7 STRAND STEEL 4 | HUBBIELL/ANDERSGN
CABLE HSWDE—55-N
_ HUBRELL/ANDERSON
@9 | Y-BALL 8 #EC—30
(8 | SUSPENSION INSULATOR: 15.000f TEST WITH BALL & SOCKET CLASS 52-5| 14 | LAPP #5D6DG
@9 |DEAD END STRAN CLAMP: FOR 397.5 KCM 28/7 ACSR g | HUBHELL/ANDERSON
DR 477 KCM 26/7 ACSR WITH SOCKET #SD-B6—S W/#SA-07
(3) | ARMOR ROD: FOR 397.5 KCM 26/7 ACSR 2 | PREFORMED #AR-0132
@2 | CONDUCTOR CAMPER & | ALCDA #1705—7
@ SUSPENSION CLAMP: WITH SQCKET EYE FOR 397.5 KCM 26/7 ADSR 2 HUBBELL/ANCERSON
OR 477 KCM 26/7 ACSR #HAS—11B-8
. g MACLEAN POWER SYSTEMS
(9 | BUY STRAN INSULATOR: FIBERGLASS, B'—6* WITH ROLLER & 2 PINS 8 | Yeccao_7eR
@9 | VEE BRAGE: MK TYPE GG, B'—1" C.C. HOLES WITH MOUNTING HARDWARE 5.1Er HUGHES #2025
ANCHOR ROD: 1 1/4 = X 1D’ WITH INSULATING WASHER, HEAVY CAST NATIONAL FOLINDRY
@9 | STEEL NUT & STEEL WASHER COATED W/MASTKC ASPHALT & COVERED 12 | W10
BY A FLASTK PIPE
KNEE BRACE: MK TYPE G&, 7°—11" C.C. HOLES 1
Z WITH MOUNTING HARDWARE sev | HUGHES #2025
NATIONAL FOLINDRY
& [ANCHOR PLATE 12 | UNFO24B-14
GROUND WIRE: D% CONDUCTVITY, 3—#8 AS
e (REFER TO POLE HEIGHT FOR LENGTH) regrp| COFPERNELD
@) | GROUND ROD: 5/3" X 10°-0" SECTIONAL g | THOMAS & BETTS/
BLACKBURN #6260S
@3 | GROUND ROD COUFLER: 5/8" ROD 4 | THOMAS & BETTS/
BLACKBURN #60C
@3 | GROUND ROD CDNNECTCR: 5/B° RGD TO GROUND WIRE 3#8 (1) 4 | FCI-BURNDY HYTA>
#YGHP2GC2
o FCI-BURNDY HYTAP
CRIMAM: 1/2° STEEL TQ (1) 3—#8 WIRE 4
@ / (1) 3+ #YC28U26
@9 | coNNECTING LINK 4 PR| HUGHES #3151
. ion HUGHES #310B.8
(&2 | POLE BAND: 2 WAY, 180 DEGREE (10°-12") & | w/§2718.55 BONDING UNIT
n HUGHES §310B.5
(D | POLE BAND: 2 WAY, 18D DEGREE (8"-10") 4 ¥/§2718.55 BONDING UNIT
X—BRACE: COMPLETE WITH MOUNTING HARDWARE 1
€ (2-7/8" X 18" & 2-7/8 X 18" BOLTS) se7 | HUCHES #1042-13-6-CFT
X—BRACE: COMFLETE WITH MOUNTING HARDWARE 2
(2-7/8" X 14" & 2-7/8 X 16" BOLTS) se7s | HUGHES #1042-10-6-CPT
@2 | SUSPENSICN INSULATOR: 20,0004 TEST WITH BALL AND SOCCKET 43 | LAPP §61236

DRAWING DEVELOFED FOR ML-3/ML—4
PROJECTS. FQR ML-1/ML-2,
ADDITICNAL REQUIREMENTS AND QA
REVIEWS ARE REQUIRED. (REMOVE
THIE NOTE WHEN INSERTED INTQ A
DRAWING PACKAGE).

1. THIS BILL OF MATERIALS APPLIES TQ DRAWING ST-G4C10—0B, SHT. 1.

2, EQUIPMENT MEM NUMBERS [@] REFER TG EQUIPMENT NUMBERS IN

LANL SUPFORT SERVICES CONTRAGTOR'S MASTER BILL OF MATERIALS.
ONLY THOSE NUMBERS USED ON SHT. 1 QF THIS DRAWING ARE SHOWN.,

NATES FOR DESICNER:
E%%wm'.}g INCLUDE CN CANSTRUCTIAN

L L
L 9
? 1. CONPLY WITH GURRENT EDMION GF §
< LANL DRAFTING NANUAL FOR CALL— 4
OUTS PROTOCOL_AND LOCATION OF
1 SCHEDULES/MATERIAL. 9
@ 2. ASSIGN AN APPROPRIATE DRAWING 4
L 9
L L

CANC BhabrRe” TR EREeST

FOR DETALS.

9090006609

N DATE REV PESCRPTON DWN |VER|CHKD| SUB | APP

A\ FACILITY & WASTE OPERATIONS
e SYSTEMS ENGINEERING & MAINTENANCE

LANL ENGINEERING MANUAL ORAWN | 4 pacen
SITE ELECTRICAL DISTRIBUTION STDS.
BESEN |, prvant
TANGENT STRUCTURE 408 (DEAD END) T
HLDG. X TA—X | "F |e/30/m2
SUENITIED AFPRIVED FGR RELEASE
DISCIPLINE POC! DAVID PAOWELL STANOAROS MANAGER! TOBIN QRUCH
SHEET
P 2
° LOS Alamos PU Bax 1063 2 ar 2
NATIONAL LARORATRRY Los Almos, New Maxko B75640
CLASSFICATAN U [REVEMER  NIHAEL LaDaCH [oarea/38/82
FROJECT D DRAWING N REV
CHAPTER 7 ST-G4010-08| O




